Corrections Savoir Fd. 5

Corrigé Exercice 13
1.a) f'(x) = 1xe* + xxe* = (1 + x)e*

b) g’(x) = (3 — 3x?)e* + (3x — x3)e*
= (3 +3x—3x%2 —x3)e*

c)h’'(x) =5e*+ (5x —1)e* = (5+5x —1)e* = (4 + 5x)e*

CQFD

d)i'(x) =3e™ +3x(—e™*) =3e™* —3xe™* = (3 —3x)e*

e) j'(x) = 10e2703x 4 (10x — 50)(_0’382—0,3x)
= (10 — 3x + 15)e?7%%* = (=3x + 25)e?703*

f) k'(x) = dxe™s + 2x? (—%e‘g) = (—x%+ 4x)e_§

2.a) f(x) =31nx+3xxi=3lnx+3

b) g'(x) =12Inx - D +x(3+0) =2lnx—1+Z =
2Inx+1

c) h'(x) =2xInx + x? xiz 2xInx+x=x2Inx +1)

d) I'(x) = In(x? +1)+x>< —ln(x +1)+

2+1

e) j'(x) =In(3x) + x X :—x =In(3x)+1
f) k'(x) = O+(0—l)ln(x—1)+(1—lnx)xﬁ

1-Inx

=—ln(x— 1) +

3.a)k'(x) = 4x(% —2x) + (2x% = 5)(x% — 2)

= §x4 —8x% +2x* —9x% + 10 = ?x‘* 17x% + 10
b) h'() = (VX + (2 —x) X 7= = —VX + = —Z[jf+
2—X
2vx

_ —2x+2—x _ —3x+2

T 2yx 2Vx

Pour préparer le controle ...

1. aym'(x) = 3 + 2e* + 2xe*
=3+4+2(1+x)e*
b) f'(x) =0— (2e* + 2x — 4)e¥)
= —2e* — 2xe* + 4e”*
=2e* —2xe* =2(1 —x)e*
CQFD

c) d(x)=e™™*

d) s'"(x) = (—=De™* + (1 — x)(—el™)
=(x—2)el™

2.a)

m'(x) = 5—lnx—xxi=4—lnx

b) p'(x) = 2xIn(2x) + x? x %
=2xIn(2x) + x
=x(2In(2x) + 1)

c)Y'(x) =2xIn(x —2) + x? X ﬁ
X2
=2xIn(x —2) +—

3.a)
n'(x) = —6x(x + x3) — 3x2(1 + 3x?)
= —6x2 — 6x* — 3x%2 — 9x*
= —15x* — 9x2 = —3x2(5x2 + 3)
3x?2  12x (\/_) +3x2
b) m'(x) = 6x Vx + — - Amiry -
_ 12x243x% _ 15x?
. 2yx  2yx




Corrigé Exercice 14

e 2x+ 1) —e"™x2 _ 2xe*—¢e* _ (2x—1)¢*

La) JO=TT 0k T axrlp s (x Ly
, _ —e*(1+e¥)—e*(1-e*) _ —e¥—e?*—eX4e?*  -2e*
b) h'(x) = (1+e%)2 T (+e®? T (1+e¥)?
, _eX42-x(2e?¥)  2+(1-2x)e?*
) N =G = e
, _e¥e3¥—(e*-1)(3e3¥)  (e*-3e*+3)e3*
e) w (x) - (e3%)2 - e6%
_ (—2e*+3)e3*  -2e*+3
- e6X T e3x

1.2
, —Xx“=2x(Inx+1)  x-2x(Inx+1 x(1-21nx-2
2. a) ] (x) — X — ( ) — ( )

x4 x4 x4
_ x(-2Inx-1)
==
41n x—xx=
b)k’(x) _ X _ nx—x X _ 4lnx—4 _ Inx-1
4lnx 16(In x)2 16(Inx)2  4(Inx)2
') _%(1—x)—(—1)x31nx_@+31nx _ 3(1-x)+3xInx
o) m(x) = (1-x)? (1—x)2 T x(1-x)2
2
xx—1xIn(2x—4) 2 x 1
12 _2x—4 — - _
d) f'(x) = 1x2 —2 X an(2x—4)
1
= 2 ax x—zln( 2x —4)

o B6xX(1—x) —3xx(=1) _ 6x —6x*+3x? _ =3x(X—2)
3.2) f'() = (LX) ST a2 A-xp
L 2B-40-(-A@x+1) _ 10
b) &) = G ) BNERTSE
1
¢) i(x) = W E _ 3% X 2vxvx — %8

(Vx) 2Vx X x
6x3 — x3 B 5x3 B 5x2 B 5xvx
2xVx 2xvx  2Vx 2

Pour préparer le controle ...

e¥*(1+e*)—e*xe*

/ —
1La)p'(x)= ey
ex + er _ er ex
(1 +4eM)2 T (1+eX)?
, __ 3e3*(2x+1)—2e%*
b) u (x) = (2x+1)2
_ (6x+1)e3*
T (2x+1)2
2. a)
k'(x) =
(1+§)(xlnx)—(x+1nx)(lnx+xx§)
(xInx)2

xInx+Inx - (xInx+x+(nx)%+In x)
(x1nx)2

__xInx+lnx —xIn x—x—(nx)%-lnx
- (x1nx)?

X - (Inx)?2

"~ (xInx)2

2 x(x+1)-In(2x)

b) g,(x) = & (x+1)2
E—ln(Zx) x+1-x1n(2x)
— X — X
(x+1)2 (x+1)2
_ x+1-x1n(2x)
x (x+1)2

ARG -1 -3t + 1)
- ¢ - 1)

L X0 —ax® —3x2
(S O

3. m’(x)




